[ Efficiency vs vertpos |
- 05

20.45

g
2 04

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFitOLD__RECO
Efficiend —— pom_v0001_R000000001__Global__mkFitNEW__RECO

~n 0.2
LT R R S R
%] C . . . . .
Z0.16------ AR AR 1 i P
> . . . . .
8 - . . H . H
e e T | S S

3] E : ! : :
£0.12-- 117 \l srerrepeeces
o E : : : : :

O O R 1| LA } ------- e

i H+*+fﬁ

:_ + N :
0.04F N | U #*“‘,!'"’ﬂ,
0.02F SRR e R R EEEREEEESERREEL o
IV R P VU I U PO A

Ratio

[y
TTTT] T

-20 -10 O 10 20 30
TP vert z (cm)

o

13
oS
S

[ Efficiency vs. sim PV z |
N~ 0.0 T T X
> E E E E E

0 0.09F - preyees AR A AR
S : : : :
O A R

LT RN R N R S
2 : : : :

2 0.06f - f--cieeeedeerene i oy
90 5 NI BN
§ 005 T STt
0.04fF - e de £

0k SO SR IR SR :
0.02F+++++eeeeoe e ] :
1103 R S A SR 5
AF. . | i | . | ) i
9 J..LU_ : :
= Al :
o [l

5 0 15 20

210 -5 1
Sim. PV z (cm)



	Contents
	Page 1


